T = ? %
ﬁ i % cJI0XeHue IpoOel (TOT ke 3HAMEHATEJh)

Nms: Jara: Ounenka:
2 | 1 2
Z41-= 4+ =
6 6 77
3 6 4 1
4+ - = — 4 — =
8 8 9 9
5 2 4 6
6 6 5 5
2 6 1 6
12+ = = 2=
5 5 5 5
5 7 5 2
8 8 9 9
4 2 7 3
g 8 4 4
1.3_ LT
9 9 2 2
3 7 6 4
4+ - = — 4 — =
5 5 5 5
§+§: ﬂ+2l:
7 7 3 3
2 1 7 5
_ _ = — 4 — =
13 13 8 8

www.snowmath.com


https://www.snowmath.com

CJIOKEHHUE Ipo0eit (TOT ke 3HaMEHATelh)

ool W
_|_
oo N

AN
+
AN D
Il

[E—
(O N\

ool
+
ol
I

+
ool N

ol B
1 W

+
O | W

O | —
Ol =~

WDl
\®)

| W
+

I
~|

3|
+
| WD

12+H
3 3

AN
o

m]@

N W

ek
ek

[
|

N —

D] W

Jlara: Oruenka:
1 2 3
4+ ==
77
4 1 5
-4+ ==
9 9 9
4.6,
5 5
1 6 7 2
—t+_-=_=1=
5 5 5 5
5 2 7
4+ D=
9 9 9
7,3_5_,1
4 4 2 2
1 7
2—+ ==
2 2 6
6 4
-+ =-=2
5 5
4,1 12
373 3 73
7 5 3 1
—+Z==1=
g 8 2 2

www.snowmath.com



https://www.snowmath.com

